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QUESTION 1

Which of the following protocols is used by voice terminal to communicate with the VoIP server? Each correct answer
represents a complete solution. Choose all that apply. 

A. SIP 

B. SMTP 

C. MGCP 

D. H.323 

Correct Answer: ACD 

 

QUESTION 2

Andrew is working for a television station in North America and South America. 

What video standard is more possibly be used with the video stored in the archives of these stations? 

A. SECAM 

B. NTSC 

C. IEEE 1394 

D. PAL 

Correct Answer: B 

 

QUESTION 3

Which of the following are the key steps that must be taken while planning and implementing QoS policies? Each
correct answer represents a part of the solution. Choose three. 

A. Divide traffic into classes. 

B. Identify traffic and its requirement. 

C. Remove unnecessary protocols. 

D. Define policies for each traffic class. 

Correct Answer: ABD 

 

QUESTION 4

Which of the following services translates private network addresses into public ones? 
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A. DNS 

B. NAT 

C. DHCP 

D. WINS 

Correct Answer: B 

 

QUESTION 5

Which of the following layers of the OSI model is responsible for establishing communication session between the
processes running on different communication entities in a network? 

A. Layer 7 (Application layer) 

B. Layer 3 (Network layer) 

C. Layer 5 (Session layer) 

D. Layer 2 (Data-link layer) 

Correct Answer: C 

 

QUESTION 6

Fill in the blank with the appropriate word. 

The ____________ is composed of the local loop, the central office, and the SS7 network. 

A. PSTN 

Correct Answer: A 

 

QUESTION 7

Which of the following are the advantages of the Diffserv model? Each correct answer represents a complete solution.
Choose two. 

A. Highly efficient tools 

B. Admission control for each request 

C. Large number of service classes 

D. High scalability 

Correct Answer: CD 
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QUESTION 8

Which of the following statements are true about routers? Each correct answer represents a complete solution. Choose
all that apply. 

A. Routers are responsible for making decisions about which of several paths network (or Internet) traffic will follow. 

B. Routers organize addresses into classes, which are used to determine how to move packets from one network to
another. 

C. Routers act as protocol translators and bind dissimilar networks. 

D. Routers do not limit physical broadcast traffic. 

Correct Answer: ABC 

 

QUESTION 9

Which of the following priorities will you recommend for voice in an 802.1 p VLAN? 

A. 1 

B. 7 

C. 6 

D. 2 

Correct Answer: C 

 

QUESTION 10

John works as a Network Administrator for Infonet Inc. The company has a Windows 2000 domainbased network. The
network has ten Windows 2000 servers and 300 Windows 2000 Professional client computers. The network uses a T3
line to connect to the Internet. The company also has 1,000 external employees who need to connect to the company
from remote locations. John wants to implement a remote access policy for external users, which will make access
highly available and most secure. 

He wants to accomplish the following goals: 

No data traffic should be carried as clear text. 

At least 200 remote users should be able to access the network simultaneously all the time. 

What will he do to accomplish these tasks? Each correct answer represents a part of the solution. Choose three. 

A. Configure each VPN server to support 150 PPTP connections. 

B. Install two virtual private networking (VPN) servers at the main office. 

C. Configure the client computers to use MS-CHAP. 

D. Configure the client computers to use Password Authentication Protocol (PAP). 
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Correct Answer: ABC 

 

QUESTION 11

The H.323 protocol uses ASN.1 binary code and the Session Initiation Protocol (SIP) uses ASCII text standard to format
its messages. 

Which of the following layers of the OSI model is responsible for translating, processing, and reading ASN.1 and ASCII
messages? 

A. Transport layer 

B. Network layer 

C. Application layer 

D. Presentation layer 

Correct Answer: D 

 

QUESTION 12

A scenario involves a pool of users with private IP addresses who need to access the Internet; however, the company
has a limited number of IP addresses and needs to ensure users occupy only one public IP address. 

Which technology is used to allow a pool of users to share one global IP address for Internet access? 

A. Pool Address Translation 

B. Private Address Translation 

C. Port Address Translation 

D. Per-user Address Translation 

Correct Answer: C 

 

QUESTION 13

Which of the following is a method of displaying multiple parties in a video conference? 

A. Session Border Controller (SBC) 

B. Multipoint Control Unit (MCU) 

C. Multicast 

D. Broadcast 

Correct Answer: B 
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QUESTION 14

Which of the following protocols prevents undesirable loops in a switched network? 

A. IGRP 

B. CDP 

C. VTP 

D. STP 

Correct Answer: D 

 

QUESTION 15

Which of the following is an implementation of the media gateway control protocol architecture for controlling Media
Gateways on IP and PSTN networks? 

A. H.248 

B. SIP 

C. H.323 

D. RTCP 

Correct Answer: A 
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